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Al 3,000
01 XHAYLSEFH S| 6,000 6,000 0
OREREI| 7Y 1,500,0002! * 4CH 6,000
| 3,000
Al 3,000
AIMOLE 2 H A AALR (2) 2,856 0 2,856
| 1,428
= 499
Al 929
307 Q20| H 2,856 0 2,856
| 1,428
= 499
Al 929
05 PIZteIEr2 2,856 0 2,856
OAMOIHE FIIRCHIS g
28,5601 * 1002 2,856
| 1,428
= 499
Al 929
HEAMIE Z0I0ANH(E) 7,330 0 7,330
= 2,200
Al 5,130
201 Yer2 Yyl 7,330 0 7,330
= 2,200
Al 5,130
01 AtR2elt| 7,330 0 7,330
ONSMIZF0IQANS HARDES
83,0508 * 105 * 4% 7,330
= 2,200
Al 5,130
MXHAOI OIS RE A (E) 4,400 0 4,400
= 1,320
Al 3,080
307 2201 H 4,400 0 4,400
= 1,320
Al 3,080
05 BI2tSIEt3 4,400 0 4,400
OKIXHA O] 24 X2
50,0008 * 88% 4,400




M BAA
M 2AANY 2d3(2AH/2H9g)
el MESA ALY (98
_ = FSRE =
SA-EFH - SA(SAH) - MREAY - BES Off &F K @ﬁOH BlusZ
S 1,320
Al 3,080
steae SR 42,100 0 42,100
otet Ed3tAY 42,100 0 42,100
201 et 38,600 0 38,600
01 AtR2teld] 1,600 0 1,600
Qs a0 W&
60,0008 = 1004 * 13 600
Ostghated 222 M 1,000& = 1,0000H 1,000
02 32234l 2,000 0 2,000
OHIASLZAEHS IIL2IELES
2,000,000 * 14 2,000
03 A2 HI 35,000 0 35,000
Olistal= st A Fo} 35,000
—2AUX= 2,000,000& = 3H 6,000
—AEEHIS B2 5,000,000& = 14 5,000
—HAE E22A X 20,000,000 * 14 20,000
—dAIE S22 MH 4,000,000 * 14! 4,000
202 ol 2,100 0 2,100
01 2L 2,100 0 2,100
Ostost=et g sl s stAAIE I Kbl
70,000& = 3 * 102 2,100
301 dEtENS 1,400 0 1,400
10 ALAHIE &= 1,400 0 1,400
Osret AT &AL &0 Al B4
70,000 = 5F » 22 * 23 1,400
HY2HZUI(EAAL D) (DIEH/DIEL) 812,377 840,137 A27,760
I 2 500,870 508,350 AT,480
eI 2| 500,870 508,350 AT,480
101 Q1] 483,210 490,896 N7 ,686
01 2= 235,164 251,272 A 16,108
OAZtla=S(BHA BAX A EHRZA) 235,164
—XU=E 7,4573 = 73H * 36AI2t » 12F 235,164
02 JIetR 2= 226,800 218,400 8,400
OBEEAYN Ts&SH]
700,000& = 27H « 12& 226,800
03 RIIHAZZ XN E = 21,246 21,224 22
OFAt2el& 21,246
=] 38,000% » 18 = 253 9.614
—a0= 4,750 * 209A12+ « 400% = 1 3,971
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M BAA
M HY2IFUI(BAALL ) (JIEH/DIE)
&l QI 2AH| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
—FE SO
4, 7503 * 200A12t = 75% * 23] « 1H 1,490
—2JtaaY 50008 « 28 * 1Y « 122 120
—NZte 2Ly
71253 « 15A12F « 19 « 128 1,283
— =54 38,000 * 18 = 52= 1,976
—F=54+E 38,000& * 18 » 12¢& 456
—AXNREFI=Y 38,0003 « 18 * 16Y 608
— = gl 100,000& = 1H = 12& 1,200
—wEH| 44 0003 + 18 » 123 528
203 R4l 11,660 11,454 206
01 JI22F L= 3,300 3,300 0
OEHAE 3,300
—J|22A AR FLH 3,300,000& = 1 3,300
02 HANMMPRF=EHI 2,960 2,808 152
(O)=FaE 2,960
— IR =AY 40,000 * 74 2,960
04 BEASSEHFFLHI 5,400 5,346 54
OBHAGH(BEHRA , BHEZ A ELEH 5,400
—RA2IHRFLH| 450,000& * 12& 5,400
204 A=A 6,000 6,000 0
01 MG PR HH| 6,000 6,000 0
OBHAF(IIFENH) 400,000& = 1H = 128 4,800
OEAAMS BB (IEH)
100,000& = 1 * 128 1,200
ol = Al 311,507 331,787 20,280
Jl2& | 311,507 331,787 220,280
201 LetH| 115,917 104,667 11,250
01 AtER22/Hl 44,787 49,695 N4,908
O HAIE ot 31,302
—SAMEXFLHl 13,0008 * 17%A « 128 2,652
—S20HAlHl 5,000& * 64 « 17H » 128 6,120
—get == 100,000& * 12JH& 1,200
-2 SAFLL 50,000& * 12& 600
—2n2 =44 7,640
- SAIN(~E)22al 500,000& * 1CH 500
Zele el 100,000& = 4CH = 50/100 200
SAMI EH 200,000& = 53| * 104 1,000
DEEIN(EY) EH
200,000& = 53| » 4CH 4,000
- ZEEII(Z22) EY
200,000& = 53 = 1CH 1,000
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M BAA
HH: AYSIAU(2AAL D) (JIEHDIE)
Rl J1=23dl (98
SA-EFH - SA(SAH) - MREAY - BES Off &F K a4 BlusZ
Off &F OH
- pc==cl 100,000& = 17CH * 20/100 340
- JIEt =2l 60,0003 * 107K 600
—JIEt ALRESHI 5,000 = 17H = 123 1,020
—g2sg 12,070
=% 30,000 * 1% « 2532 7,590
2 40,0008 » 198 = 112& 4,480
Oullat& 19,232,000& = -10/100 A 1,923
O2AXN 17,120
—SMSX 7 13,0008 * 202A « 122 3,120
—S2 O0iAlHl 5,0008 = 341 « 20 » 128 3,600
—Yot 23 100,000& = 10902 1,000
—278 =& 8,200
- SAH =cl 500,000& * 3CH 1,500
- ZElH 22l
100,000& * 10JHZ = 50/100 500
- SAD ElH 200,000& = 23| = 3CH 1,200
- ZEH EU 200,000& = 53| = 4CH 4,000
- pc==2c| 100,000& = 20 * 20/100 400
JIEH EHl==cl 50,0008 * 12€ 600
—JIEt AIREFHI 5,000& » 20H = 123 1,200
oularz 17,120,000& * —10/100 A1,712
02 3323l 71,130 54,972 16,158
OHIINES(BEFEAES) 2,800,0008 » 12¢ 33,600
Odslea 200,000& * 120H< 2,400
Ot MSR(EFHES)
600,000& = 123 7,200
OFE=geiFSh=heila] 250,0008 * 13 250
OALYHEHY =2 1,000,000 * 12 1,000
OsZNdRE=s 850,000& = 12l 850
Oofigs2elXkt 3l 40,000& * 22| 80
Ogstatel X A2l 100,000& = 13 100
OBANEAAHE 2Y
350,000& * 20 + 12E8 8,400
Ooaojetd e tee=== 350,000 » 12& 4,200
OofE+7Y 4,650
—glpt 2508 * 50008 * 12% 1,500
-7 1,750 = 15000 = 128 3,150
ooy 238 SR
250,000& = 200 128 6,000
Os2d)| AEEH =22
200,000& * 12 + 128 2,400
202 Oddl 195,590 227,120 231,530
01 =LHOYI 96,590 119,120 A22,530
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M BAA
HH: AYSIAU(2AAL D) (JIEHDIE)
el J123H| (98
- _ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES Off &F K ‘Oﬁ,‘\jg‘g BlusZ
O22dAMZu R=A0L 60,860
—2HHOHl 20,0008 * 179 * 128 ~ 128 48,960
— 22|l 70,000& = 17 = 10& 11,900
OEadXA, A 22 0]
70,0008 » 5 » 33¥ 11,550
OZSSEHAA HRFINHI 24,180
—Z U o bl 20,000% = 3 * 26Y « 12&€ 18,720
— 22l 70,000& » 3% » 263 5,460
02 XN 99,000 108,000 29,000
OEAX A, BHESA N
250,000& = 33 » 123 99,000
A2 SE(BAH/BHg) 2,022,589 1,978,884 43,705
= 5,408
Jl 662,859
= 216,041
_ Al 1,138,281
ALSE A 1,007,923 988,872 19,051
= 3,898
Jl 465,730
= 141,974
Al 396, 321
TZEA A 7,750 8,450 AT700
201 EHRHH| 3,430 4,330 A900
01 AtR2teld] 3,030 3,330 A 300
ORZLEAANL WS
1,000 * 1,00082 * 15 1,000
ORLEHASZAAIY 1008 * 5002 * 55 250
ORZEAHEIR2E E223
1,000& = 1,000H 1,000
Osn2EA42d WSz
50,000& = 108 500
ORLEAYY ZTAHIORD MRS
70,0008 * 19 * 29 140
OUZXotHEUS MARARE
70,0008 = 1 = 29 140
02 3522 400 1,000 600
ORLEHA S EHI==2] 200,000 = 2CH 400
301 Let2a= 1,920 1,720 200
10 HAIAHIEA S 400 0 400
OFZEHAY 2t 3] 200,000& = 22l 400
12 JIet24= 1,520 1,720 A 200
OZAHI2lDI 20,0002 * 1901w * 2Y 760
OALXIotHaZHal 20,0008 « 199 A « 29 760
307 2120l & 2,400 2,400 0
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M BAA
M AlQAY ST (2H/2AH2R)
SRl AASE ALY (98
- _ = PSS
SA-EFH - SA(SAH) - MREAY - BES Off &F K ioﬂ/i\_FOH BlusZ
—8Us 5,000& = 1004 500
O0glol A2=50 thal 3,000& = 500 1,500
301 etEd= 14,600 12,800 1,800
10 SAHAHIEA S 4,200 4,200 0
OULEAAY 2t&38] 10,0008 » 30Y * 43 1,200
OAZHE0E SHEH AA
5,000& = 100& = 2« 1,000
ONSHSSWALHS| 2H4
2,000& = 1,000 2,000
12 JIet24= 10,400 8,600 1,800
OFAYA ZHNE LAE 2,000
—JI=Z= 100,000& = 2074 ! 2,000
OAUZL2E0IE 1] LAE 2,000
—JlE= 100,000& = 20742 2,000
O0lElol giolns 2 Mg 400
—Jl== 100,000& = 2JH1 * 23] 400
Obtltte 2snd ZAg 2,000
—JZ2= 100,000& = 1004 * 23 2,000
OANgl 28X20K 2,000
—JlE= 100,000& = 10052 * 23l 2,000
OZLEHAAY TA=E 2,000
—JI=Z2 100,000& * 203 2,000
307 2iz2tol A 7,000 10,000 /3,000
01 A2LR2H| 7,000 10,000 A3,000
OstHEY A2 HMEOEY 7,000
— LA SHEZH 2EFL
50,0008 = 408 * 28 4,000
—SH7Y 1,000& = 3,000 3,000
405 AHatH S 500 10,000 A9,500
01 ML ESF=H 500 10,000 29,500
Ou2dsady 7 500
—3J|1E37| 500,000& * 14 500
X ASEAL SRS AL X R () 97,000 98,000 1,000
p) 48,500
(= 14,550
Al 33,950
101 Q1A H] 31,400 31,400 0
Il 15,700
S 4,711
Al 10,989
04 JIZHZE2NSES 31,400 31,400 0
O L LAHAESY 18,050
=] 50,0008 * 2559 12,750
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wrere
0 e B

p=lS;
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iRyl
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« IH A

%
-
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—4EE

—E| X2
e e =1

O
HO
O
Pl
0
>
re
gl
0o

v
r
il

I
o
3
0

—4UHEE

=X

50,000& » 52=

= H X

1,300,000& * 1

=X

1,400,000& * 1&

= H X

50,000& * 200

=Y

50,000& » 455

=X

1,100,000& * 1&

= H X

6,375
1,913
4,462
2,600
1,300
390
910
1,300
650
195
455
1,400
700
210
490
13,350

10,000
,000
,500
,500
,250
,125
338
787
1,100
550
165
385

— N W = O,

= H X

25,250

12,625
3,786
8,839

O
Y
oy
0l
Bl
El
H
>
a1l

OFMTP

S|
0
oz
S|
(=3

O
A
I
=
1)
Of
H
o

£l

5= el
2,

Az

000& * 65 *100%

>mny

5,000& * 58 * 50

=X

1,500,000& = 2 &

= H X

1,000& = 38 = 20004

mn >

11,250

1,200
600
180
420

1,250
625
186
439

3,000

1,500
450

1,050

600

300
90
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2H: 22
Ha: AlQl
el AY

SA-EFH - SA(SAH) - MREAY - BES O

z
12
=1
R
121
==
El
i
u

r

50,000 = 15002 » 203 15,000
7,500
2,250
5,250

=N Y

3
o
o
o
®
10 0
*
N
02
*
o1
N
o

10,400
5,200
1,560
3,640

= mn X

50,000& * 2JHZ4 * 133l 1,300
650
195
455

= mn X

50,000& * 222 1,100
550
165
385

= mn X

OFFHISt2elAY A=

50,000& * 302l 1,500
750
225
525

>y

SHSeIHAE2HE(2) 87,600 90,628 N3,028
43,800
13,140
30,660

>mny

101 1A 36,600 36,600 0
18,300
5,490
12,810

=Y

04 JIAHZ2XHSE= 36,600 36,600 0
oJles 50,000& * 2559 = 23H 25,500
12,750
3,825
8,925
50,000& * 52& » 29X 5,200
2,600
780
1,820
(@ZIy 3= 1,450,000& * 298 2,900
1,450
435
1,015
O&x= 1,500,000 * 2 3,000
1,500
450
1,050

®
e
o
1
o
= my =N X

= mn X

= Y
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2H: 22
Hz: AlQl
el AY

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

201 LEH2HH| 7,800 9,828 22,028
) 3,900
= 1,170
Al ,730

,800 9,828 N2,028
,800
,900
570
1,330
,000
500
150
350
,000
,500
450
1,050

01 AtR2tc
SHEES 1,900& = 2,000

— W NN

=N Y

(OF=geEmE=PNI=3 100,000& = 105

—

>y

O3 HAEIA 1,000& = 3,0000H

w

= mn X

202 Oddl 2,100 2,100 0
1,050
315
735

= mn X

01 =LHAOYI 2,100 2,100 0
Oz MY

(u]
-

El
Ho
Al

]
Joh

70,0003 » 3% » 10 2,100
1,050
315
735

=Y

301 et a= 5,100 6,100 A 1,000
2,550

765
1,785

=N Y

Ba= 500 1,000 A500
2 UE3F S 5,000& = 50% * 23 500
250
75
175
= 4,600 5,100 A500
= M 100,000& = 102/ 1,000

500

150
350

= mn X

=N

al

OZ2S0I2A4 =819 B3
40,0008 = 4F » 10 1,600

800
240
560
O=3gd3X JIES 10,000& = 2009 2,000
1,000
300

= MmN X

LES!
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2H: 22
Hz: AlQl
el AY

2N -3 (AH) - HIRAIY - BHE

R
:
0x
I
=
[
2
2
R
12
o
£l
0l%
IS

Al 700

307 Q12t0lH 36,000 36,000 0
18,000
5,400
12,600

= mn X

=4:]l 36,000 36,000 0
rES 7Y 45,0008 800 36,000
18,000

5,400
12,600

= mn X

COIOXIEEAIZ () 133,200 109,870 23,330
66,600

19,980
46,620

= mn Y

307 2120l & 133,200 109,870 23,330
66,600
19,980
46,620

= Y

Jm
oy

133,200 109,870 23,330
133,200
1,500,000& = 23H 34,500
17,250
5,175
12,075
—2=229X 2,380,000& * 40 95,200
47,600
14,280
33,320
— L oIZ Ol 22|yl 100,000& * 35¢& 3,500
1,750

525
1,225

&
a
=
o

O
(.
™ oo
i 1o
10 >
a1

[

>

[Q

= mn X

>Ny

= mn X

TLEHAEI A (Z) 20,000 20,000 0
10,000
3,000
7,000

= mn X

201 et 11,000 12,000 A 1,000
5,500
1,650
3,850

>mny

2eldl 8,000 8,000 0

—_

,000& * 1,0002 * 53 5,000
2,500

750
1,750
O72ZeH usitz M 300,000& = 105 3,000
p) 1,500

= mn X
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B
121
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O
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=5

Y

10
uC
02

=

1,000& * 3,000

=Y

450
1,050
3,000
3,000

1,500
450
1,050

2,500

500

202

=Y

2,000
1,000
300
700

2,000

01

H

N

HL

O

T

A

A
=

,000& » 5% = 53

= mn X

2,000

2,000
1,000
300
700

2,000

307

= mn X

6,000
3,000

900
2,100

6,000

01

10
U

O
gy
o M

0
U

U
=5

Y

z

i

=]

pjEE

H0

60,0002 * 1005

=N X

6,000

6,000
3,000

900
2,100

6,000

405

S
Jn

= mn X

1,000
500
150
350

1,000

01

o

On M

Jn

1,000,000& * 135

= mn X

1,000
1,000

500
150
350

1,000

b

12
=

= W

4,873

3,898
975

6,372

A 1,499

201

= W

273

218
55

273

01

273,000& * 14|

= W

273

273

218
55

273

307

4,600

6,099

A 1,499
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- SHRI(BIAH) - NRALS -

el

[
2

20
B
2

= W

3,680
920

05

e
s
40

O
10
b
4 I
I ol

Fd
-
0z
2
B
I

J|AL

— o

PalpN

2,0

a
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